Fom N\UT4XvyTIII B PEEMR KES

BAfEER : FR205E10814H
BfEO—R . AXFyII)ILTa—R

OUT START
900 [ EH 8.8 [LU S A 10.0 [/MEII_FBE 6.7 |#TiE #IX 4.8
‘ __ SEALAvbY) - sEALAVY = sEALAVEY) = sEELAVM) -
9-08 |FLF RN 17 | EW =R 14 |JfE BERR 10 Rk B 8.4
' ___hR¥x )42 jE L __ ER 1=vyh
916 | D= 15 6.5 [EEK 22 12 |EAtEE &5 6.0 [F4 wX—EB 6.8
' h3F+v 2712 E L =R AV —F
904 | BB E 8.3 |Frli RN 76 | L EX 83 |[ET B 7.1
: ES _ AUty @ T AVE-F
9.3 |JE B84 11 fFRE BER 6.4 &g = 83 |ER TiF 5.3
N ES R A7 = 1=y v -Ty4
o0 [BE & 71 |EE ek 70 [EX & \\ 8.1 R 5 70
' ES R ]S N—=LEWR Paikic: 11PN
948 |AB JEE 6.0 |EFIEII— 39 |[FE =& 8.1
: iaah VDI N __IV=LEIR ____1-wytb
' B4l B4l v -Ty4
IN START

900 A& KIZ 8.1 Al A0A! 9.0 [#7E JTX 12.2
- SEALAVh)— SpALAVH)— _SpELAV-
908 |BE ES 9.9 |=A R 18.0 |53kt Fik 14.8
' ___WxF¥ __ FUAVEIL 1-3yk

3 | 916 |EEF BXX 12.7 |t Ka 10.3 [Yfa] RS 9.8
‘ ES R __EER VT8

4| 904 [5H ZF 105 |10 B5IE 16.1 |BR HiE 152 [/B% M= 9.3
i 5 SR v T4 AIE-F

5 | 930 PR TR 19.0 A% —If 129 [ K 2 9.8 Al KA 17.0
: AXF¥ = ] v T4 NXF¥

6 | 940 [FE FIE 225 |#E == 17.5 [E #5 9.1 [#Ti B 22.0
' hxF% _ ES A Y T3 ARF ¥
948 | BB FIF 180 [BkH ¥+ 234 %% miE{e 53 g FETF 16.3
' AME—F N=LELA V794 ES R,




